


SMRL p = 0.608 t = 0.532 n.s.

K p = 0.616 t = 0.519 n.s.

A p = 0.397 t = 0.889 n.s.

TMRL p = 0.225 t = 1.301 n.s.

% p = 0.740 t = 0.343 n.s.

E p = 0.167 t = 0.502 n.s.



SMRL p = 0.149 t = 1.570 n.s.

K p = 0.059 t = 2.157 n.s.

A p = 0.248 t = 1.235 n.s.

TMRL p = 0.9996 t = 0.0005 n.s.

% p = 0.900 t = 0.106 n.s.

E p = 0.918 t = 0.129 n.s.

SMRL p = 0.379 t = 0.901 n.s.

K p = 0.205 t = 1.169 n.s.

A p = 0.243 t = 1.207 n.s.

TMRL p = 0.569 t = 0.581 n.s.

% p = 0.932 t = 0.087 n.s.

E p = 0.387 t = 0.887 n.s.


